
Gro

‐  3 Poin

1. A cloc
don’t kn
At 12:55
look like
 

(A) 

2. The w
certain d
many ho
over 30 
(A) 5 

3. How m
and who
(A) 8 

4. The p
green, 4
number 
(A) any c

5. The n

(A) 1 

6. In a lis
number
360. Wh
(A) 3 
 

7. A rect
4 cm x 1
coincide
quadrila
(A) 28 cm
 

8. The su
the prod
(A) 0 
 

9. The b
(A) 5 
 

10. The 
If one ad
digits of 
(A) 240 
 

Mathem
oup	Stu

Au

nt Question

ck has three 
now the leng
5:30 the hand
e at 8:10:00?

(

water level in
day as shown
ours on that 
cm? 
(B) 6  (C) 7

many differe
ole numbere
(B) 6  (C) 5

ositive whol
4 red, 5 blue,
be? 
colour      (B

umber ඥ2√
య

(B) √

st of five num
s is 30, of th
hat is the mid
(B) 4  (C) 5

tangular piec
16 cm is folde
es with point
ateral ANMD
m2    (B) 30 c
 

um of the dig
duct of the d
(B) 1  (C) 8

iggest possib
  (B) 6

age of Quint
dds the digit
f their ages? 
  (B) 2

matics
udent	(G
ustria	‐

ns  ‐ 

hands in diff
th of each h
ds are in the
? 

B) 

n a port rises 
n in the diag
day was the

7  (D) 9 

ent rectangle
ed side length
5  (D) 4 

e numbers a
 6 green, and

B) red or blue

√2 is equal to
√2  (

mbers the fir
e middle thr
ddle number
5  (D) 6 

ce of paper A
ed along the
t A as shown
‘? 
m2  (C) 32 cm

gits of a nine
igits of this n
8  (D) 9 

ble natural n
6 

tus is a two d
s of their age

2012

Kanga
Grade	1
‐	15.3.2
	

ferent length
and but we k
e positions sh

(C) 

and falls on 
ram. How 
 water level 

(E) 13   

es with area 6
hs are there?
(E) 3 

are being col
d so on. Whi

e  (C) g

o 

(C) √4
ల

 

rst number is
ree 90 and of
r in that list?
(E) 10   

ABCD with th
 line MN so t
. How big is t

m2   (D) 48 cm

e digit numb
number? 
(E) 9!   

number n, fo
(C) 8 

digit power o
es the total o

(C) 60 
 

aroo	20
11	onw
2012		

hs (for secon
know that th
hown on the

 a 

60 
? 

oured in ord
ich colour co

green only

(D) √4
య

s 2 and the l
f the last thr
 

he measurem
that point C 
the area of t

m2  (E) 56 cm

er is 8. How 

r which ݊ଶ଴଴

(D) 11

of five and th
obtained is a

(D) 50

012	
wards)

nds, minutes 
he clock show
right. What 

(D) 

der, in red, b
ould the sum

(D) red only

(E) 2

ast one is 12
ee  

ments 

the 

m2

big is 

଴ ൏ 5ଷ଴଴ hol
  (E) 1

he age of Sek
an odd numb

  (E) 3

and hours). 
ws the correc
does the clo

(E) 

lue and gree
 of a red num

(E) blue 

2. The produc

ds true is 
12   

kundus is a tw
ber. How big 

300   

We 
ct time. 
ockface 

en, i.e. 1 red,
mber and a b

 only 

ct of the first

wo digit pow
is the produ

   

 2 blue, 3 
blue 

t three 

wer of two. 
uct of the 



-  4 Poi

11. How

 (A) 24° 
 

12. A rea
stateme
(A) 0	൏	ݔ
 

13. A tra
80%. Wh
(A) 80 %
14. For a
twice. T
(A) 4 
 

15. In on
boys hav
mark of 
(A) Ther
(B) Ther
(C) Ther
(D) Ther
(E) There
 

16. In th
squares 
ones in t
How big
(A) 114 m
 

17. A rig
given. H
(A) 2൉4 
 

18. A sq
the midp
big is the

(A) 
଻

ଵ଴
 

 

19. The 
as usual
digits 1 a
given as

(A) 3√3 

 

20. Rena
always a
an equa
sum of a
many di
(A) 70 
(E) It is i
 

 

int Questio

w big is the an

  (B) 3

al number x 
ents is definit
 64	൏	ݔ (B) െ

avel agency o
hat is the mi
%  (B) 6
a ski race con
he sum of al
  (B) 1

ne class a tes
ve done sligh
4.2. Which o
re are twice a
e are 4 time
e are twice a
re are 4 time
e are equally

he diagram w
that are equ
the right‐ang
g is the area o
m2   (B) 130 

ght‐angled tr
ow big is the
(B) 3  (C

uare ABCD h
point of AD. 
e area of the

(B) 
ସ

ହ
  (C

clock shown
 in a constan
and 2 (in cm
s 12 cm? 

(B) 2√

ate wants to
adds up to 7)
l number of 
all points on 
ce does she 
(B) 71  (C) 1
mpossible to

ns  - 

ngle  in the

30° 

fulfills the co
tely true? 
െ8	൏	ݔ	൏	4 

organises fou
nimum perc
60 %
nsecutive sta
l the numbe
16 

st did not yie
htly better w
of the follow
as many boy
s as many bo
as many girls
es as many gi
y many boys

we see a rose
ually big, red
gled triangle
of the bed? 
m2  (C) 144 

riangle with s
e radius r of t
C) 3൉75  (D) 

has side‐leng
G is a point 
e triangle BEG

C) 
଼

ହ
  (D) 

n has a rectan
nt circular pa
), if the dista

√3  (C) 

 glue togeth
) to form a “d
points. She w
the non‐glue
have to glue
142  (D) 143 
o obtain exac

e regular five

(C) 36° 

ondition x³ <

(C) ݔ	൐	8

ur different t
entage of th
(C) 40 %
arting numbe
rs handed ou
(C) 25 

eld a very suc
with an avera
wing stateme
ys as girls. 
oys as girls.
s as boys. 
rls as boys.
and girls. 

e bed. White 
 ones are in 
. The bed ha

m2   (D) 160 

side lengths 
the inscribed
4൉8  (E) 6

gth 2. E is the
on the line C
G?  
ଷ

ହ
  (E) 

଺

ହ

ngular clock 
attern. How b
ance betwee

4√3  (D

er a number
dicebar” as s
wants to ma
ed sides equ
e together?

ctly 2012 po

 

e‐sided star s

(D) 45°

< 64 < x². Wh

(D) െ4	൏

trips for a ce
he group whi

(D) 20 %
ers are hand
ut is 857. Wh

(D) 37

ccessful resu
age mark of 3
nts is correc

 roses are gr
the big squa
as width and 

m2  (E) 186 

a = 8, b = 15
d semicircle 

e midpoint o
CF with 3CG 

face, the ha
big is the dis
en the numbe

D) 2 ൅ √3

r of ordinary 
shown. Doin
ake sure that
uals 2012. Ho

ints on the n

shown? 

  (E) 7

hich of the fo

൏	ݔ	൏8       (E

ertain group. 
ch has taken
%  (E) 1
ded out. One
hich number
  (E) 4

ult because t
3.6, while the
t? 

rowing in the
are and yello
height 16 m

m2
   

 and c = 17 i
shown? 

f AB and F 
= 2GF. How 

nds howeve
tance x of th
ers 8 and 10 

(E) 12 െ 3√

dice (whose
g this she on
t the 
ow 

non‐glued to

72°   

ollowing 

Eሻ	ݔ	൏	െ8 

Each trip ha
n part in all fo
16 % 
number wa
r was given o
42   

he average m
e girls have r

e 
w 

m. 

s 

r move 
he 
is 

√3 

e number of 
nly wants to g

gether sides

as a participa
our roundtri

s accidentall
out twice?  

mark was ex
received an a

points on op
glue sides to

s. 

ation rate of 
ps? 

ly given out 

actly 4. The 
average 

pposite sides
ogether with 

s 



-  5 Poi

21. Whic

(A) ݂ሺݔሻ

 

22. The 
(A) ሿെ∞
(D) ሿെ3,
 

23. Let a
Vol(Ex) is
obtained
(A) Ex = E
(C) Ex ് 
(E) Ex ് 
 

24. In a 
numerat

fraction 

of n? 
(A) 56 
 

25. An e
a unit sq
that the
triangle 
time? 

(A) 4π 

26. How
x1 x2 + x2

(A) 8 
 

27. Afte
2012 str
parabola
with the
(A) 0 
lines. 
28. Thre
What ar
(A) A(4,3
 

29. In th
differen
with a4 =
sum of t
(A) 0 
 

30. Gerh
number
(A) 10 
 

int Questio

ch of the foll

ሻ ൌ
ଶ

௫
  (

solution set 
∞,0ሾ	∪	ሿ3,൅∞
,൅∞ሾ 

a > b. If the e
s obtained. I
d. Which of t
Ey and Vol(Ex
Ey and Vol(E
Ey but Vol(Ex

game with fr
tor by 8 or in
଻

଼
 after n suc

(B) 81  (C) 1

equilateral tr
quare as show
 point shown
are both bac

(B) 
ଶ଼

ଷ
π  (C

w many perm

2 x3 + x3 x4 + x

  (B) 1

r an especia
raight lines p
a in two poin
e parabola? 
(B) 1  (C) 1
 

ee corners of
re the coordi
3,5)  (B) B

he sequence 
ce of the pre
= a2 + a3. The
the first 100 
  (B) 3

hard chooses
s is equal to 
  (B) 9

ns  - 

lowing funct

B) ݂ሺݔሻ ൌ
ଵ

௫ା

of the inequ
∞ሾ  (B) ሿെ3

(E) R 

ellipse shown
f it rotates a
the following

x) = Vol(Ey) 
Ex) ൐ Vol(Ey) (
x) ൌ Vol(Ey) 

ractions I am
ncrease the d

ch operation

109  (D) 113 

iangle is bein
wn. How lon
n covers, if t
ck at the sta

C) 8 π  (D) 

mutations (x1,
x4 x1 is divisib

12 

lly intense le
parallel to the
nts. How big 

1006

f a die (not a
nates of the
B(2,5,3) 

1, 1, 0, 1, ‐1,
evious two a
en a5 = a3 ‐ a4
terms of this
3 

s two numbe
the sum of t
9 

tions fulfills f
ଵ

ାଵ
  (C) ݂ሺݔ

uality |x| + |x
3,	3ሾ  (C)	ሿ
 

n rotates abo
bout the y‐a
g statements
    (B) Ex = Ey
(D) Ex ് Ey an

m allowed to 
denominator

s I again obt

(E) This valu

ng rolled aro
ng is the path
he point and
rt for the firs

ଵସ

ଷ
 π  (E) 

ଶଵ

ଶ
 π

, x2, x3, x4) of
ble by 3? 

(C) 14 

esson the gra
e straight lin
is the sum o

(D) 2012

ll on one fac
 midpoint of
(C) C(3,4,7)

, … the first t
nd a3 = a1 – a
, a6 = a4 + a5, 
s sequence?
(C) ‐21 

ers a and b fr
the remainin
(C) 7 

for all x ് 0 t

ሻݔ ൌ 1 ൅
ଵ

௫

x‐3| > 3 is 
ሿെ∞,െ3ሾ 

out the x‐axi
axis an ellipso
s is true? 
but Vol(Ex) ്
nd Vol(Ex) ൏

carry out tw
r by 7 withou

tain a fractio

ue cannot be 

ound 
h 
d the 
st 

π 

f the set {1, 2

(D) 16

aph of the fu
e with the e
of all x‐coord

(E) The 

ce) have the 
f the die? 

(D) D(3,

two terms a1
a2 holds true
 and so on, a
 

(D) 100

rom the set {
ng 24 numbe

(D) 2

the condition

(D) ݂ሺݔሻ ൌ

s an ellipsoid
oid Ey with vo

് Vol(Ey)      
൏ Vol(Ey)      

wo operation
ut simplifyin

n with equa

obtained.

2, 3, 4} have 

  (E) 2

unction y = x²
quation y = x
dinates of the

number dep

coordinates 

4,5)  (E) E

1 and a2 are e
e. The fourth
alternating d

  (E) ‐

{1, 2, 3, …, 2
ers from this 
  (E) 6

n	݂ ቀ
ଵ

௫
ቁ ൌ ݂ሺ

ଵ

௫
  (E) ݂

d Ex with volu
olume Vol(Ey

s, namely eit
g during the 

l value. Wha

property tha

24   

² was still on 
x, which each
e intersection

ends on the 

P(3,4,1), Q(5

E(2,3,5)

each 1. The t
 one is the s
ifference an

‐1   

6}. The prod
set. How big
6   

ሺݔሻ? 

݂ሺݔሻ ൌ ݔ ൅
ଵ

௫

ume 

y) is 

ther increase
e game. Start

at is the smal

at the numbe

 the board a
h intersected
ns of the str

choice of th

5,2,9) and R(

 

third term is 
sum of the pr
nd sum. How

uct ab of th
g is |a‐b|? 

ଵ

௫
 

e the 
ting with the

lest value 

er  

s well as 
d the 
aight lines 

e straight 

(1,6,5). 

the 
revious two 
big is the 

hese two 

 




